P/N: KIT010

TRANSPORT DOOR

17| SOLUTIONS

PETERS DOORSHAFT FIXING KIT

PIVOT PLATES + FIXINGS

PETER'S REF

ITEM PART No No DESCRIPTION QTY
1 BRG025B 203352 @12 X 12 OILITE FLANGED BUSH 2
2 PVTO002A 201361 DOOR PIVOT PLATE 2
3 SCR50820-A5 204730 M8x20 SCREW-CSK-SOC -HD 6
4 SPLO01A 201351 CAP NUT-STAINLESS STEEL 2
5 WAS12PL-G8 203937 M12 NYLON WASHER PLAIN (2.5mm THK) 1
6 WAS12PL-A1 203860 M12 ST'L WASHER PLAIN FORM.A. (2.5mm THK) BZP 1
7 WAS12PL-B1 203866 M12 ST'L WASHER PLAIN FORM.B. (1.6mm THK) BZP 1

= e &
VIEW ON B @—-}/x’@

|z | TORQUE MGHTENED TO 23Hm
B ] ﬁ,fi@ BOTH LUSING LOCTITE 270.
E—1 7 @
il n:_hF—
(F—y | |

IMPORTANT! 3

ITEM 8A TO BE SECURED IN
POSITION WITH ITEM AND

. o e i -
‘ = LU |

Lk

A ) T
] [ ¥
g ..ll P
| ‘(@, VIEW OM A
T{l 13
] VIEWED FROM INSIDE OF VEHICLE

ISSUE .1- 07-09-20011

Typical Application

copyright © 2011 Transport Door Solutions Ltd




